





$$\begin{cases} \underbrace{h \cdot \underbrace{h}_h} = \underbrace{h \cdot \underbrace{h}_h} = \underbrace{h \cdot \underbrace{h}_h} \\ \underbrace{h \cdot \underbrace{h}_h} = \underbrace{h \cdot \underbrace{h}_h} = \underbrace{h \cdot \underbrace{h}_h} \end{cases}$$

$$\underbrace{h \cdot \underbrace{h}_h} = \begin{cases} \underbrace{h \cdot \underbrace{h}_h} \\ \underbrace{h \cdot \underbrace{h}_h} \end{cases}$$

$$\begin{cases} {}^h\mathcal{A}^h = \mathcal{L} \cdot \underbrace{{}^h\mathcal{A}^h} = {}^h\mathcal{A} \cdot \underbrace{\mathcal{U}_h^h} \\ \mathcal{B}_h^h = \mathcal{L} \cdot \underbrace{\mathcal{B}_h^h} = \mathcal{B} \cdot \underbrace{\mathcal{U}_h^h} \end{cases}$$

$$\mathcal{U}_h^h = \begin{cases} {}^h\mathcal{A} \cdot \underbrace{{}^h\mathcal{A}^h} \\ \mathcal{L} \cdot \underbrace{\mathcal{B}_h^h} \end{cases}$$